I o -+ 551 07/202s




IHVL5 ,?\7’.7' 2.12

BHVLS IR O (i F i

AR

RE HVL5110-06 HVL5210-06 HVL5210-08 HVL5310-08 HVL5310-10
THENR TS (Z40um LA BRI E)

MEAR FiEHR

BEORO G1/8 G1/4 G3/8
Anawn o [ o 2 e
B =0=M

pENi (@) ARE

EREIER 0~0.8MPa (0~116psi)

fRIEME S 1.5Mpa(215psi)

TERE -20~70

AR BT BE

OEEFEE PT. NPT FaItiEE;
@mEIHEDRE, PEFEFL, ZiGHEMA ISOVG32 HFEFKMA M.

BRSRTRAE
HVL5110-06 HVL5 2 10 08
® @ ® O]
@ FEMRS HVLS: A= O FHIiE
@ RIS 1:100851;2:200%51;3:300R51;
® IhEER S :10: I E
©) EEOR:100%%:06:G1/8;200%%:06:G1/8,08:G1/4;300%%!:08:G1/4,10:G3/8

02 www.wxhengli.com




HVL5 &5 H O {1 E i [Henglid

REBLEH

FS B
BIK485T
-3
N
L)

0%

W
LEfTigEzs
FEEE
TR
NARE
=
RIRE
Fi8

O | | N[ | U | D |w [N |-

=
o

—
-

—
N

—
w

www.wxhenglicom ()3




HVL5 &%IH O U FHIiE

IMERTE (2XK)

@D
= = =
E
= == =
- 30K
+ & H]E T

) 4| o s 4 . é}

il's} o

o §E g g L o @ £

] o

PB KC LB
c B

HE\BS HVL5110-06 HVL5210-06 HVL5210-08 HVL5310-08 HVL5310-10
A 98 106 106 121.5 1215
AB 58.5 65.8 65.8 81 81
AC 10 10 10 10 10
B 18 22 22 27 27
C 27 35 35 40 40
D 25 25 25 25 25
E M12X0.75 M14X1.0 M14X1.0 M16X1.0 M16X1.0
K 3.3 4.3 4.3 4.3 4.3
KA 14 20 20 24 24
KB 22 22.5 22.5 28.5 28.5
KC 19 23.5 23.5 27.5 27.5
L 3.3 3.3 33 4.3 4.3
LA 30 38 38 50 50
LB 13 17 17 20 20
LC 14 13.5 13.5 15.5 15.5
PT1/8 PT1/8 PT1/8 PT1/8 PT1/4 PT1/4
PA 16 18 18 22 22
PB 3 0 0 0 0
PC 21 23.5 235 29.5 29.5
PD 29 32.5 325 40.5 40.5
Q PT1/8 PT1/8 PT1/8 PT1/4 PT1/4
QA 28 36 36 45 45
QB 2 0 0 0 0
QC 15 14.5 14.5 18 18

04 www.wxhengli.com




FE

=E © REBUIEHAFTRN, ©BEERERMBOIRSUEASR

+86400 101 8889 +49 (30) 72088-0 R, RiE. EFIRERABFANRITEE. BF-R—E7E

RETFFRBIF P, AEEMPEEREWFETILASHEGT
EdE| =S REAY, WFALM=ENERARTERRERER, B
+016309953674 | +8103 6809 1696 SEFRIBHRL




